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PART - A

Directions : In the following five

items, each item has a ge
(a), (b), and (c). Read each sente

ntence with three underlined parts labelled as

nee and identify any error in any underlined part, and indicate vour
response on the Answer Sheet against the corres ing T 1 : You
response should be indicated as (d). T e, oGl Tyos £t o erver, S
1.  Ramesh liked his friend’s music player to his own. No error
(a) (b)
(e}, (d)
2.  Given the complex of the problem the committee is not expected
(a) (b)
to arrive at a decision any time soon. No error
(c) (d)
3. The group of students on a visit to Srinagar circumnavigated around the Dal Lake. No error
(a) ) (e) (d)
4.  Jitender was the smartest of the two children in the room. No error
(a) (P (c) (d)
B.

He asked me if I would be interested in signing up as a member of the group. No error
(a) (b) (© @

Directions : In the following five items, each item consists of six sentences of a passage. The first and sixth
sentences are given at the beginning as S1 and S6. The four sentences in between 81 and S6_in each
question have been jumbled up and labelled as P, Q, R, and S. You are required to find the proper sequence
of the four sentences and mark your response accordingly on the Answer Sheet.

8. S1: Geological mapping, when properly done, demands skill and judgment.

S6: Nothing is more naive than to believe that a field geologist should gather only ‘facts’, the
interpretation of which is to be made at a later date.

P: While the field work progresses he should eonceive as many interpretations as are consistent
with the known facts.

Q: As the field work progresses and the larger geological picture begins to unfold, experience and
judgment are essential if the geologist is to evaluate properly the vast number of facts
gathered from thousands of outcrops.

R : Such mapping requires keen observation and a knowledge of what data are significant,

S: Above all, the field gealogist must use the method of “working multiple hypotheses” to deduce
the geological structure.

(a) SRQP (b) RQSP (e) PSQR (d) SRPQ
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Under the colonial reg; i
gime, basic infras sport, posts
and telegraphs did develop. infrastructure such as railways, ports, water tranipo

N I
aturally, therefore, these areas remained inaccessible to the peaple.

: Th .
ere always remained an acute shortage of all-weather roads to reach out to the rural areas

during the rainy season.

* Roads constructed in India prior to the advent of British rule were not fit for modern

transport.

: However, the real motive behind this development was not necessarily to provide basic

amenities to the people but to subserve various colonial interests.

: The roads that were built primarily served the purposes of mobilizing the army within India

and drawing out raw materials from the countryside to the nearest railway station.
SPQR (b) PQSR (c) QPRS (@) RQSP
Contemporary history is necessary, but it is at best a tentative record.

E_ome portentous events can be seen to be so from the moment of their occurrence, like the
discovery of the New World; others of comparable momentousness are hidden in obscurity.

: The relevance of the issue of proportion is significant.
. It possesses, indeed, a massive supply of public record, but it necessarily lacks the inner

knowledge of politicians’ minds, of planners’ proposals, of scientists’ discoveries, of technicians’
break-throughs.

. Tt also lacks perspective since it is bereft of a sense of proportion.
. Tt is impossible, over just a few years of observation, to estimate accurately the significance of

various events.
QPSR

Income inequality in less-developed countries is worse than most estimates.
The tax regime in these countries needs to be progressive and futuristic.

(d) PRSQ

(b) SRPQ E‘g} QSRP

. There is a staggering level of difference between the income metrics and the actual income of

the prosperous in such countrieshpexams.in

: The effective tax rates are not really progressive with regard to income.
. They need to be reengineered to bring into the tax net the enormous sums of ‘missing’ income.

. They are even less so with regard to wealth.

PQSR (b) QSPR (c) QSRP (d) SRPQ
The history of English literature is usually divided into different periods.
This is the real danger of periodization, which tends to give the impression of distinct

categories where there are none.

. However there are important discontinuities to be kept in mind.
. Each period has unique features that produce certain family resemblances between the writers

of a particular period.

. Scholars often specialize in periods such as Medieval, Renaissance, Romantie, Victorian, and

Modern literature.
Failure to detect these discontinuities often produee a false sense of uniformity and congsensus

within a period.

PQRS (d) RSPQ

(¢ PSQR
(3-C)

L) RQPS



1

Directions : Read the following passage carefully and answer the five questions that follow by selecting
your answers based solely on the content of the passage and opinion of the author only.
The world's ]if‘e-suppgrting resources

change our practices and those of the world as a whole towards a more sustainable future, To Bive us ap
idea about the dimensiong of ch

ange, the General Assembly of the United Nations has announced its
‘Agenda 2030". The 17 Sustaing

ble Development Goals describe the framework of our common glohg
efforts. Within each Boal, education holdg a key positiontpexams.in

are being depleted at a faster rate than ever before! We have y,

Of course education and learnin

B do not function in isolation. In a traditional sense they help t,
understand the world one lives in

and prepare all for a job market with both intrinsic and instrumenty
values. What are the many roles o

f education in sustainable development ? Its purpose is transformative

should widen one’s worldview, make one question “unsustainability’, anq
help one build competencies to address global challenges and be accommodated into a global system.

in nature, in the sense that it

importance of global citizenship.

11. Which one of the following areas holds a common key position in Uniteq N

ations ‘Agenda 2030’ ?
Lx)  Environment

(b) Gender
(e) Globalization
(d) Education

12. What is the role of Education in sustainable development ?

&g,} Education will develop multiple competencies for

sustainable ﬂe‘-relupment among peoplE all
over the world

(b)  Education will provide books to read on sustainable development
(¢) Education will increase the global capital

(d) Education will reduce interdependence of the people

BNYR-U-GAT (4-C)



13.

‘We live i . : |
pﬂ;:: ;n a highly interconnected and interdependent world’. What does this phrase mean if the

a :
(®)  We are now more connected and dependent upon cach other for our survival

(b) The means of transport have become faster
i#)  We have become dependent on other countries
(d) We are facing challenges from globalization

14. ‘The world's life-supporting resources are being depleted at a faster rate than ever before!’ What does

15.

this phrase mean in the passage ?
(a) Today we are facing an acute shortage of food products
(b) Medical health systems are deteriorating at a fast pace
I(J:J The natural resources necessary to sustain life are reducing drastically
(d) Human life is becoming more dependent on the support of technology

There is an increasing recognition of the importance of global citizenship’ because :

(a) People want to travel more and live in different parts of the werld

(b) It will unite people from all over the world to face the challenges of the 21% century
(c) People believe that there is a future in foreign countries

(d) People will cooperate with each other to save themselves from natural disasters

Directions : In the following five items, each sentence has a blank space and four options have been given
after the sentence. Select the most appropriate option for the blank space and indicate your response on the

Answer Sheet accordingly,
16. I walking past this particular shop for the past three years.
(a) was (b) have (c) have been (d) had been
17. All effects can be connected with immediate causes, but it whether they provide the whole
explanation.
(a) isdoubted (b) isadoubt (5)_ may be a doubt (d) may be doubted
18. Abird is better than two in the bush.
(a) inhand (b) tohand (¢) handy (91 in one’s hands
19. Human history is ample proof that human ambition ______ mo limits.
(a) kmows (b) keeps (c) crosses (d) marks
<
20. Good history presents several perspectives on a period but these divergent viewsmust ____ jp¢,
" on integrated whole.
::] in be made (b) befused (c) fit ig} be balanced

(5-C)
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PART -B

21. Which o
! ne of the PR y
Protoeol ? Teming u security [ 26. An incandescent bulb rated as 100 W at llr[[?hv
is connected to a 220 V power supply- 8
(8) TLS power that dissipates in the bulb would be :
(a) BOW
® ssL (b) 100W
() IPgec & 200w
(d) 400W
d) MIME =
- 27. If the length of a current carrying wire 1s
29 haived, for a given potential difference, the
» LaTeX document doe current in the wire would :
s not T
@ \ SR AR (8)  be doubled
documentclassfarticle) (b) be halved
(b)  \begin{document) e)  remain unchanged
() \endldocument) (d) become zero
. 28. Crystals of sulphate pentahydrate,
(d). \documentstyle{article] westing e S ydrate, on
) ) (a) blue colour salt
23.  The decimal equivalent of (-1101), is : (b) white colour salt
(a) 0-8122 dg) ' green colour salt
© 08124 29. ' Tartaric acid is found in :
(a) Tamarind
(d 08125 b Tomato
(e) Orange
24. In a worksheet, which one of the following is (d) Vinegar
not a cell referencing style 7 30. Which one of the following is an T
(a) Relative referencing chemical change ?
. ; (a) Melting of wax
- feren
G} RaplQomeye cmg (b) Heating of iron
(¢) Absolute referencing (e} Dissolution of sugar in water
(d) Mixed referencing (d) Burning of magnesium in air
T 31, Which one of the following i
o5, Which one among the flloving i wsed (0| ™ ontitutinsl body i Tdia? =
combine several object modules and libraries (a) ational Human Rights Commission
to a single executable program ? ®) ﬁ;i::nl Commission for Scheduled
: ter
(a) Interpre (¢} National Commission for Backwarg
(b) Compiler Classes
. (d) National Commission for
goy Tadimx Castes Scheduleq
(d) Loader
(7-C)
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32.

33.
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Which of the following is/are elements of

India’s ‘Panchamrit’  view on climate

change ?
1. India will reach its non-fossil energy
capacity of 500 GW by 2030.

India will meet 509% of its energy

requirements from renewable energy by
2030.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

() Both1and2
(d) Neither 1 nor 2

What are the prerequisites for declaring any

area as a ‘Scheduled Area’ under the Fifth

Schedule of the én%iiu_ﬁ_;};l n of India ? pg$ MY

1. Preponderance of Tribal Population V!l

2. Compactness and reasonable size of the
area

3. _JXconomic backwardness of the area

L

“The notification must be issued by the
Governor of the concerned State

Select the correct answer using the code given

below :

{a) 2 and 4 only
(b) 1,2 and 3only
(¢) 1and3only

1,2, 3 and 4

(@)

The Railway Budget was separated from

General Budget owing to :
(a) Distributive Convention of 1925

(b) Separation Convention of 1924
(¢) Bifurcation of Estimates of 1924
(d) Equalising Convention of 1925

35.

36.

317.

(8-C)

Which of the following gtatements which the

the non-electric cooli et for pIs) has

Bureau of Indian Standafd_-"' ( S;;andafd

recently developed an Indian

(IS 17693 : 2022), is/are correct ? Ade

1. It is a natural refrigerator fm "
primarily to store vegetﬁgisr e
milk and also for cooling water.

9.  This standard helps BIS in fulﬁl}mglﬁ
out of 17 United Nations Sustainable
Development Goals. _

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

() Both1land?2

(d) Neither 1 nor 2

Which of the following facilities are to be

provided by the contractor to Inter-State
mi t workers in Tonnection with the work
of%ﬁﬁishment to which the
Inter-State Migrant Workmen (Regulation of

Employment and Conditions of Service) Act,
1979 is applicable ?

1. Equal pay for equal work irrespective of

sex
2. Provision for suitable residential
accommodation

3. _Provision for protective clothing
4, Provision for old age benefit scheme
5. Prescribed medical facilities

Select the correct answer using the code given

below :

(a) 2,3and5only
(b) 2,4 and 5 only
@ 1,2,3andb
(d) 1,3 and4only

A dispute relating to the age of an
employed by an employer wh adolescent

ich arj
the absence of any authentic duuumj.i: S;l: htz

e Bl
ﬁ;ﬁﬁ?:nt) Act Topgy (Trohibition  ong
) The Labour Gourt "> Authority

Ez;; %: Jlﬁ.n;]f:::;ra?: p(?of:i;:::r the Act
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sg,  wwarn sfufam, 1048 W wauEl & adi,
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A B C D
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41.

(10-C)
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8. Under tho provixons of the Factories Act,

1848, which one of the followin
relating 1o the n £ statements

:ll']thu te Appraisal Commitiee is correct 7
Labour Commissionor of the Sia
P e or o to i the
bl An independent in i
the Chai , poerson s appointed as
{c) 'lhhhurﬂinhlmnfthnﬂuhhthu
ex-officio Chairman,
(d)  The Chief Inspector of the State is the
Chairman.

Match List I with List 11 and select the correct
answer using the code given below the Lists :

4. ﬂﬂmdmmﬂl'“f@w

in the Regulating Aet of 1773 7
(a) It made |

poace
(b ﬂumuﬂuﬁhlﬂmm-ﬂﬂﬂi and
his Councillors was fixed ns five years.~

(¢} The Supreme Court of Justice W&

Mnﬂﬂlhu'mwm
tha Government of India Act of 1935 i=
correcl 7

(a) Tt was an outcome of the Round Table
Conferences.

(b) It provided for the establishment of an
All India Federation.

of the

BNYR-U-GAT

List 1 List II
(Provision) (Act)
A. Displacement 1. The Factories Act,
Allowance 1948
B. Certifying 2. The Minimum Wages
Surgeon Act, 1948
C. Half-monthly 3. The Inter-State
payment Migrant Workmen
(Regulation of
Employmont and
Conditions of Service)
Act, 1979
D. Piece work 4. The Employoes’
Compensation Act,
1923
Code :
A B C D
{n) 2 1 4 3
Ab) 3 1 4 i
) 2 4 1 3
dy 3 4 1 2

Under the provisions of the Industrial

Disputes Act, 1847, vright of legal

representation before o Labour Court, or

Industrial Tribunal or National Industrial

Tribunal is :

(a)  Astatutory right

(b} Not at all permissible

(e} Can be permitied by the forum if the
other party does not object or gives
consent

{d) May be permitted if such permission
is granted by the High Court of the
State/Union Territory

(11-C)

(e} It retained the authority

= Secretary of State over the Government
of India. -~

(d) It introduced the provision of Provincial
Autonomy.

Match List I with List IT and select the correct

List | List IT
(Congress (Presidens)
Session)
A. Lahore Session,—1. Madan
1909 “.I“i“
1811 Narasinha
Mudholkar
C. Bankipore Bishan Narayan

Seasion, 1912 —y- Dz

D. Madros Session, 4. Bhupendrg
1914 Baus Nath

|3
R
w8 e
Moo e M
HH#‘.E
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el & o o 2
(a) 1.2, gEE
(b) TH.IIN. STH
(c) TA.HI. Fhegam
@ whum. g9

T W, GEH umel wewm § T
FHIAHA | sHafeyd Hifsm - e =
1. = fawg fvafaaem ) s

3. 3l srEen ‘2 ofiet & searn

4. gomEETR § fag Aifdn wmm i wem
#i= fau 7y e w1 @ W TE IW AT
(a) 3-4-1-2

(b) 4-3-1-2

(e) 4-3-2-1

(d) 3-4-2-1

foreft el % weel dem afufyad, 1936 5
qael % e o # fau 3wl e
wifees wwgl el B e 2

(a) YGE TAR TG

(b) 3IBNE BARX TIC

(c) FhIE EAN ¥9IC

(d) =eEE g T

L ‘qﬁqﬁ arfufaam, 1948 & odi, 23

et 1, st AT Fm w fEfE g,
19 % LR T HFG hl FAad
O % wEeE * e, s I HH=E

&1z # @y i, qREEeS s e R

FHEAT 8 ?

(a) :!EI?IHHHIE{QE&EI

(b) UftYa IR &

(c) AaH SHIAIT! §

(d) wfaya wEmgaT gL

(12-C)

|

8. T 1F g 11 g B

12 féu mu w2 #1 wam = ad I g
g1 gah il
(F7aY) (Hfatram)

A. FEs 1. e B (camf
wftrerrt Frem) Afufram, 1946
B. #fad S 2. =aw gegh sfafem,

1948
C. ggfsa 3. 39gM €@ FuFEw,
EUiEC] 1972
D. fafe war 4. s wfasy ffyg il
vl Iyay HufEm
1952
kT
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
{c) +i 2 3 4
d@. 1 3 2 4

. frdt 9 s W, a1 SeEd, 2022 9

fopelt Hact # wrimgwr frar @ ok a9 % W
200 27 o1l forar B, wurft sew & wigER =6
% 2 25 fom & fou s w0 1S 2 | 9
Faver 78 2023 F A Fead et 6 ol
afgd gEt w1 EHER &N 2

(a) A

(b) 10

() 12

(d 11

4



44. Who

45. Arrange the (ollowin

47.
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among  the following Atarted
Bhonsala Military School at Nashj 9 fie

fn)  V.D, Savarkar
(b) MR Jayakar
(e}  N.C. Kelkar
(d)  B.S. Moonje

B ovenls  associy
with Pandit Mndan ﬂnuh;

chronological order, starting with the earliest -

1 mw of the Banaras Hindy
2. mﬁm of the Congress Nationalist
3. m::lug_uf the English newspaper “The
4. fi"ii‘ﬁmi the Hindu Boarding House

Select the correct nnswer using the eode given
below :

(a) 3-4-1-2
Ab 4-3-1-2
el 4-3-2-1
dy  3-4-2-1

An employee shall be covered under the

provisions of the Payment of Wages Act, 1936,
ghould the employee be drawing 8 maximum

monthly wage of :

[ﬂ; Rupees fifteen thousand

(b} Rupees eighteen thousand
{g)  Rupees twenty-one thousand
(d) Rupees twenty-four thousand

correct

the €077
48, Huﬁhlﬂmmllnﬂ:ﬁwﬁ""

answer using the code given
List [ List 1T
(Provision) (Legtistol .

A. Recovery  1: Thelnd .sunlﬂﬂl

Employment {

B. Compulsor~ 2. The Hi“m‘"mw
Insurance Act, 1948

C. Scheduled 3. The Payment of

Employment  Grotuity Act, 1972
D. Subsistence 4. The Employees’

Allowancs—___ Provident Fund and
Miscellaneous
Provisions Act, 1952

Code:
A B C D
(m) 4 3 2 1
by 4 2 3 1
Jao 1 2 3 4
d} 1 3 2 4
An adult worker who has joined om

1* Jansary, 2022 in a factory and worked for
220 days during the year has been laid off for
Eﬁdmuplurﬂundin;ﬂrdmﬂuﬁn.ﬂw
year. How many days of leave with wages

ﬁnllhlhnmﬁthdtuﬂurin:thucﬂmd“
yoear 2023 7

(m) Nil
(h) 10
e} 12
W 1

As per the provisions of the

A minimum rate of remunoration which shall Employment (Standing Orders) ;ﬂunﬁu
be applied to an employee working on piece standing orders shall come iy 1948,
work for the purpose of securing to such | . after the expiry Operation
employees lm!?_“@_ﬂls_jn_ﬂ%ﬁrw date on which copies of ihe
work basis under the Minim i Appellate .I‘.I.Iu!hllﬂl.}' are sont gy the .,pl' the
1848 is known as : and to the trade unions ? emiployer
{a} A minimum picce rate (n)  Seven days
b} A guaranteed time rate (b) Ten duys
(¢) A minimum time rate () Fifteen days
h Kipsmasio i M iy da

(13-C)



83. ¥z WHR Tm nfEm B

55, wierh wien f3fu sfr vl sy

1962 & snfi, Frafefam 4 3 BH v wy
wft 7 & 7

(m) wﬂqﬁaﬂﬁmﬂﬁﬂhﬂm‘tﬁﬂ
Iy=y fem 2

by wEH warfl FEm @A i og@ran 3
foru aweg frn T #

@ o afufm & e o 6 e
ﬁmmmaﬁmmm%
W ET e

@ @ Bk § fee g sfem st g
(afe =ré ®) & wmaw w g |

: ﬁﬂmﬁ.xm?ﬁﬁqgﬁm

100 feeinfize 71 € | fig x w, & wed, v
e A O W, Wy e e 8 | x oy
*‘““*‘“‘Pﬁ'ﬁw.wmmm
180 M2t R 3t v v wow s 350 W
W wg fem o § X A Y 7% W

TR T 2 AR W v e wd e
(n}y  1a=m
(b 15WR
fed 16W®
(d} 179R




51.

b2,

How many I:La__rghﬂrl are
Lhu. Eﬂnh‘n.lﬁ Government 1o the National
Socinl Security Board as per the provisions of

the Unorgan; , /
angny ke’ Sosial Beninity Ar,

to be nominated by

{al Elc!lmen
(b} Twenty
Al Twenty-six

(d)  Thirty-four

Which one of the following schemes is
a Social Security Scheme under the

norganised Workers' Social Security Act,
2008 7

la). National Family Benefit Scheme ~

(b)  Janshree Bima Yojann

(¢}  Employees' Pension Scheme

(d) Rashtriya Swasthya Bima Yojana

Which one of the following authorities
constituted by the Central Government
shall be the Appellate Authority under the
Employees’ Provident Fund and
Miscellaneous Provisions Act, 1052 2

(al Employees Provident Funds Appellate
~~  Tribunal

(b) National Tribunal

(¢) Labour Appellate Tribunal

(d) Industrial Tribunal

As per the provisions of the Maternity Benefit
Act, 1961, the maximum period for which a
female employee shall be entitled to Ienw
with wages as maternity benefit for giving
birth to the third child is :

ia) Eight weeks

(b) Twelve weeks

(¢) Sixteen weeks

(d) Twenty-six weeks

-

BNYR-L-GAT

BS. Which one of the foll

{16-C)

owing statemens

and
under the Employees’ Provident Fund @

Miscollaneous Provisions Act, 1952, 18
correct 7

(a) It makes provision for pepsion e

ineluding family pension.
(b} It makes provision for Employees
Deposit Linked Insurance Scheme.

(¢) The provisions of the Act shall not be
applicable to Cooperative Societies
employing fifty or more persons working
without the aid of power.

{d) The contribution by the employer to the
Fund shall be on the basis of the basic
wage, dearness allowance nnd retaining
allowance {if nny) of the employee.

In n desert, X and Y are two spots that are
separated by 100 km. At point X, are placed
two pillars, one black and one white. Along
the line joining X and Y, a white pillar is
placed for every 180 m and a black pillar is
placed for every 350 m. How many times can
one find black and white pillarg together
while traveling I."rnlinx toY?

(a) 14 -

(b © 16 z

© 8 ‘
- ﬂ
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P,QR, S, T3y
Ptk o8 fum € | fr=fofea i &

HIF-HUA, :
N f 7% » H T ) gern w3 F
1 P A war i

3 # o R, frm o Rt A

2 U Q= R, firg s & wiard s 4,

Wﬁqﬁﬁﬁam
% mﬁmﬂﬂaqﬁ

mﬁqwﬂﬁmmqﬁmgﬁq
(a) UHATH 1uzim B

(b) TUHAH 29aim §

(e)  13R 2 3T wafy & #

@ 13"\T21{$mﬁmw¥n!

TFEEE g ¥ ) ¢ s p, Aa:lh
TR W g W E E, A sl & e ﬁizn

% G 3 F usgm & smEamd
il e a2 &

(a) D % 3= e o
(b) A 9% W §
() F & 3% o71a |
(d) G &% "= |

A, B 3R ¢ srem-em faedl =1 =1 w9 10,
issmefFidguamara 1 IR I i v
e e & 3w =1 = 91, | 9 39 59
fopam fa=i & qu s & 2

(a) 2f=THA

m sfAiH

61.

%msnﬁsﬁtﬁﬁwﬁlﬂiﬁwﬂmn
uw 300 Hiex Tl 39 H I FA F 15 Fy
g # |aﬂmﬁﬁiwaﬁ¥mﬁwﬁtﬂauﬁ:§;
damie

(a) 108

(b) 102

(¢} 98 -
(d) 98

62. THFHIMES FHHAIHAH F FHHW HY, 1-1 Hi

Fard ol 2 i won ¥ = aman 3wEh,
urfl 1 ZH R | 3l gw < 9f 7w A e |
i ® 3 s w9 1 #nfe e &
FATHR SRRy faEe grell o= Ffet
A gft a friftm o fean =0, &t 59 =0 Ot
w1 aRU w4 % fere afeen £ gEew e
reindizt # @ gF1 @ifke 2 (x = 2207 fifaw)

(a) 12
(b) 13
(c) 14
d 15

63. ﬁimﬁsmmsﬂtaﬂfﬁg)ézmﬁ

(16—C)

gigm 8, T o= som 6 fima aam 2
3 v dfae ) fma wae 2 | af2 a3
# ofer § st v H ofw wen i g
e wiig g @1, 9 yAS Fow 6 S
g H w2 7

(a) T 16

(b) T 15

() T 14

(d) =T13

i e ol
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P.Q.R, 87T
the followi =Y are aix friends. Which of
OWing is/are
eights of 8 and 79 pare
L Ris shorter
. : ﬂll'l:l. thmhrthlnuthur
2 U is tall l
i er than Q but shorter than §
though Q is not the shortest
the friends g
Select th
beloin @ correct answer using the code given
ta) 1 alone is sufficient
(b) 2 alone is sufficient
Ae) - Both 1 and 2 are not sufficient
(d)  1and 2 together are sufficient
Eight chairs are placed at a uniform distance
from each other around a round table. C and
D are equal distance away from both A and B;
E sits between A and C; G and F sit opposite
each other. Where does H sit 7
tar  Adjacent to D
(b) Adjacent to A
ic) Adjacent toF
idy Adjacent to G
A, B and C can individually finish a job in 10,

16 and 6 days, respectively. If all of them
work together, in how many days will they
finish the job ?

(a) 2days
Ab) 3 days
(c) 4days
(d) bdays

ﬁdimisu:rwnmuﬁmes.'lhenumherﬂf

ways that the number appearing on the first
thmwismllaaathmthntnnthamnd

throw is :

(a) 15
(b) 20
e 21
(d) 36

61.

(17=C)

A train of longth 400 m takes 15 saconds 12
cross a train of length 300 m travelling at
60 km per hour from the apposite direction
along a parallel track. What i8 the speed of
the longer train, in km per hour ?

(a) 108

b) 102

e} 98

d) 96

There is a water tank in the form of a
rectangular parallelepiped of height 1-1 m
and a square base of side 2 m. If a full tank of
water is drained out completely in a long pipe
of circular cross-sectional area of radius 1 cm,
what should be the minimum length of the
pipe, in km, to hold the entire water in it ?
(Take n = 22/7)

(a) 12

(b} 13

fc) 14

(d) 15

A person buys ten pens and eight pencils for
¥ 200. Price of each pen is same and price of
each pencil is same. If he could have boughs
five pens and twenty-four pencils of i
types using the same amount, then what is
the price of each pen in rupees ?

(a) T16

(b) 15

ey T4

d <13
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7 7 iRz @ g W A dem b | e
et g il f den gz e a@
faenfif=t &t 5= 6 ER R | A ),
&h:uﬁimﬂihmh:ﬂlmm1hm
gmmuﬁnmﬂﬁmﬁﬁﬁummﬂnhgﬁ

viga ae fawm g9 (1CDs) e F wde
emardt fem sy = w A= WA E 2

() 0-6a%

b 0-3ad

(e) B—H‘ﬁ'i

@) 6-15ad

o F & a7 frefafen 4 8 eRas

waa ol Ak 2

L @i 6 2 vt e g = & fg T
& uftfy fRm &=l | wfewal 3R =1 7%
wiy w

9. 3z F wnm w Frfm g &
w1 7%, FM B H AR F d@=" 03 W
FECEC R e

49 fon e 2w wEm w0l I g

(a) EE 1

(b) a2

© 13z

@ IwmLafa

(18-C)

08, Ww Ay & gend 4 Gofefen 4 § Paag

wu ah B o
am ko

2. wpmum sv fawm smafm s
WA wdweT & i s

914 fau mu 52 @ wa W WA I gP

(a) &ad |

(h) &aH 2

(e} 13fr 2=

() A ,AML

. g e frwm fem & d Pl 3

B SR wat |56 T3 VB 2

1. % e fewm va SO TR gm
i el ofes Az i
.

2, ux e wg, (e A o foamesd
wgufes e wam & §W W
Ffa = wwE em w0 gaas e
LN

4ﬁﬁwmﬁﬁmﬁhﬁnﬂmmqh:

(n) HaH 1

(b EHA 2

ic) Iaﬁtﬂﬁ

) AM1,THL

HeA & W WA (AVYAY) & w4

Frafeafen 4 A S s af 482

1. Fuobm afe i @ gfed s
LaRkukac)

2. AR ENE vd wfhem % aem @
fidima a9l W T 3 waEn s

3, uhawﬂﬁﬁhﬂhnﬁmhﬁﬂﬂ

4, wﬁqMHﬁkhqmmmﬁﬂiﬂ
i T

Hrt Ry e g2 W wim = ol I 9 1

) 1,23 4

b) Waw g4

f¢) a1l g

(d) e |
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studenta and ovory studen
playe either cricket or foothall ar h-u:l: Th:n

number of studonts whe
play ericket s
:\hl:n number of students who play hn::::r
l:ri-::k'nlh. number of students whe play nni.;r
t is threo times the number of studoents

only football. The number of
students who play bath cricket and football i=,
(a) 30
(b) 28
e) 25
d) 20

A man walks in a certain direction for 5 km
and then walks in the south direction for
4 km. If he ends up in the east direction with
respect to the starting position, how far is he
from the starting position 7

St 2km

(b) 3km
(¢) 4km
id} bHkm

The beneficinries under the Integrated Child
Development Services (ICDS) Scheme aro
children in the age group of :

ip} 0-86years

(b) 0-3 years

ic) i-6 yoars

id) 6 - 156 years

Which of the following statements about

“Truck f g isfare correct

T Growig vepialos amund_ b
people is known as Truck Farming.

9. It is governed by the distance a wﬁmli
can cover overnight between the
and the market.

Select the correct answer using the code given
below :

(a) lonly

(b) 2only

'#'_. Both 1 and 2
(@ Neither 1 nor 2

(19-€)

08. Which of the following statements Wb

referonce to the service sector ba/are cOTTH :
. Retail trade fulls under tertinry sctvily.
2. Rosearch and Development

~ lor q“.ﬂm.-r!
mhmlmrmu’qﬁ

Ja) 1only
(bl 2only
(¢} Bothland?2

(d) Neither I nor 2

Which of the following statements """'“,:;h'm

National Skill Development =
7 3

L. It is a not-far-profit Public Limite
Campany set up by the Ministry of Skill
Development and Entrepreneuraiip.

2. It promotes skill development by
- tiu s d‘ m’r I.Ir_!ﬂ‘t
mn“hl;i”i"‘d non-profit  vecational
institutions.

Select the correct answer using the code given

below :

(&) lonly

b} 2only

{e) Bothland?2

(@) Noither 1 nor 2

Which of the following statemonts with

reference to the Atal Vayo Abhyuday Yojana

(AVYAY) isfare correct 7

1. Fulfil basic needs of destitute elderly

- citizens

2. Build and strengthen intorgenerational
relationships through Regional
Resourcs and Training Centres

4. Provide guaranteed monthly pension to

i itk

4. BEstablish Atal Incubation centres for

‘elderly citizens

Select the correct answer using the code given
below

(a) 1,2and4

(b) Banddonly

(e} I_Iilild! only
ﬁ'_i 1 Ilﬂh'
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= il we Ruife w60 2

e 1

TR |, WA i AR2w SR ot &2 g
R warfem fea s R

94T ®@E F v § Prafefen 4 8 2aa
aft &7

(a) ®EI i @O ZF wh § sl
WA 11, e |6 s R
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HYF 11, T4 | 6wt =veq 737 #
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FeT ]
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T I :
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L3
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i

(@ FEAI 3R w@O oA @@ & el
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Consider the following statements ;
Statement [ ;

In India, Central Government determines tho
inihmn target, in consultation with o
Bank of Indin, in terms of Cmm_&im
Ind@X 60EE in five years.

Statement I : I';M

At present, the Monetary Policy framewark in
India is operated by Central Government.
Which of the following is correct in respect of
the above statements ?

{a)  Both statement | and statement II are

correct and statement II is the correct
explanation for statement [

Both statement 1 and stetement [ are
correct and statement Il is mol the
correct explanation for statement |
Statement | i3 correct but statement 11
18 incorrect

Statement [ is incorrect but statement
Il is correct

{b)

{e)

(d)

Cansider the following statements :

Statement I :

In India, the RTGS and NEFT payment
systems are owned and operated by National
Payment Corporation of India.

Statement II :

National Payment Corporation of Indin is an
entity promoted by banks.

Which of the following is correct in respect of
the above statements 7

{3) Both statement 1 and statement Il are
correct and statement IT is the correct

explanation for statement I

Both statement I and statement Il are
correct and statement II is not the
correct explanation for statement I
Statement [ is correct but statement II
is incorrect

Statement 1 is incorrect but statement

(b)

(e}

(d)

II ig correct

73,

74.

(21-€)

Consider the following statements -
Statement [
ﬁ“ﬂﬂmngﬂﬂﬂuﬂuﬂmﬁﬂ
eredit.

Statement IT

Many countries and companies outaide
America borrow in Dollars.

Which of the following is correct in respect of
the above statoments 7

(a) Both statement | and statement I1 mre
correct and statement I is the correct
explanation for statement I

Both statement | and statement I1 are
correct and statement Il is mof the
correct explanation for statement I
Statement | is correct but statement II
is incorrect

Statement [ is incorrect but statement
I1 is correct

(b)

o)

(d)

Consider the following statements :

Statement I :
The Government of Indin mandates the
packaging of 100% sugar and food grains in
diversifiod jute bags.

Statement IT :

The Government of India enacted the Jute
Packaging Materials (Compulsory Use in
Packing Commodities) Act, 1987,
Which of the following is correct in
the above statements Bpexams.in
w Both statement | and statement 11 are
correct and statement I1 is the correct
explanation for statement 1

Both statement I and statement I are
correct and statement I1 is not the
correct explanation for statement |
Statement 1 is correct but statem

is incorrect o
Statement I is incorrect by
I1 is correct

respect of

(b)

(e)

(d) M
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Recently which one amo

1 ng the following
committed up to $ 25 billion for the next five
years to fund lﬂ_ﬂli'ﬂﬁm;m_mtinn
u::!d.nr_ the” Prime Minister Gati Shakti
initintive as well ns socinl development and
climate nction, thus aiding India’s aspirations
for green growth ?

Aa)  Asian Dovelopment Bank
(b)  International Finance Corporation
(e} New Development Bank
d) World Bank

Large Language Models', sometimes described

in hews, can be used in which of the
following ?

1, Creation nfrﬁi.magmed search engines -
2. Health care

d.  Software development

4. Translating a language ~

Select the correct answer using the code given
below :

(a} 1and3only
(b) 1,2 and 4 only
(e} 2,3 and4only
4 1,2,3and4

With reference to the three types of carbon

emissions from companies, consider the
following pairs :
Emission Example
1. Seopel : Emissions as & result of
emissions employee commuting,
business travel and waste
produced
2. Scope 2 : Emissions as a result of
emissions purchase of electricity,
steam, heating and cooling
for own use
3. Seope 3 : Emissions from  fuels
cmissions consumed by company

vehicles, owned and leased
Which of the above pairs is/are correctly
matched ?
fa) land2
(b) 2only
e} land3

(d) 3 only

78,

79.

(23-G)

' i8
generally talked about in the context it

Global Anti-Base Erosion Rules
Prevention of Meney Laundering
Regulation of Crypto-currentcy
Virtual Digital Asset Transactions

(m)

(b
g
oA

Which one of the following statements beat
describes the term ‘Prowess,,’ sometimes See!

e

in news ?

A special-purpose supercomputer with &
hardware architecture dedicated to 2
single problem

A database of the financial performance
of companies that is specially designed

for academia

A computing machine that uses the

(a)

(b}

= properties of quantum physics to store
data and perform computation

(d) A database in which collection and
storing of data is done on user's system
and this is basically designed for a
single user

‘NSE Prime', sometimes mentioned in news,

denotes :

(a) A high standard corporate EoVernance
initiative

(b) Long-duration Sovereign Groen Bapgs

(¢) Concessions and tax-holidays for hi-tech
startup companies

() Special privileges for ceriain ca .

v of Non-Banking Financia) Iu;ﬁlut:::h
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= m:zm ic) w1 s (Fafama sfn ssama) sifafam,
by 0.4 FFE 1070

(e) T.08. Fieguad ) swfEm waE wiwr (feee W
id) UH.H. 99 fafrmm s #aned) sifafm, 1979
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Who among the following was a

freedom fighter Runj ﬁumm:iﬂljé:::
;;:rmt:a“":’;rﬂﬂ fight against the British
o & 8 capture by the British in
(w)  Rayanna
{b)  Tipu Garo
le}  Jaghandhu
(d}  Dukaribala Devi
The First Indian Factories Act, passed in
1881, dealt primarily with -
(a)  Women labour
_th)  Living conditions of factory workers
(e} Child labour
id} Textile workers
Where was Azad Hind Fauj (INA) formed ?
__';!1' Singapore :
ib)  Taokyo
c)  Berlin
{d1  Rangoon

In 1927, Lord Birkenhead, Secretary of State

for Indis, appointed a Commitiee of three
members. to enquire inte the relationship
bhetween  the Indian States and the British
Government and to make suggestions for
more satisfactory adjustment of the existing
economic relations between the Indian States
and British India. Who among the following
was not a member of the Committee ?

:}i Harcourt Butler
by A.J. Wilson

ied  W.S. Holdswarth
id) S.C. Peel

B5.

B7.

(25-C)

Which of the following staaments =

eorrect 7

. Under the Cornwallis
distriets wore divided into
police jurisdictions of 20

the

Systarl.
o ar

_a0 miles

Bguare,

2. Euach of them was placed undo? ':"
officer of government, under -
denomination of daroga. .

3. The daroga systan was introduced 17
Madrns in 1812,

4. 'The daroga was nominated by the
district magistrate.

Selvet the carreet unswer using the code gived
bolow :

‘J.’;J 1 and 2 anly
(b} 2,3and4
(e 1,3andd
{d} 1,2and4

Model Standing Orders formed under the

I i i ors} Act,
1946 shall apply to an establishment in

respect of which the Appropriate Government
is that of the State of :

(g} Madhya Pradesh

(b) Gujarat

(¢) Kerala

() West Bengal

An ‘out-worker’ is expressiy excluded from the

definition of ‘workman’ under which one of the
following legislations 7

im) The Factories Act, 1948

{b) The Plantations Labour Act, 1951

(e}’ The Contract Labour (Regulation sl
Abolition) Act, 1970

{d) The Inter-State Migrant Workmen
(Regulation of Employment and

Conditions of Service) Act, 1879
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F afl, wafs aqfm wen fel e d

W M F fEeE W g w3 W B

w8, Prafafas & & e wgf & o ®

@A # 777 @ wmom 2

(a) VTR, vAER 4 S &, J0Mm &
fore, snpifives & @ s B

(b) & w WA . R

(0 @ wm A w Fufie sfwd o
s = R

(@ M sEtes i w2

Ao e afufam, 1947 & i,

foreres wiaamm Afafd A fan TEA 06

s w0 T R

(o) K Frdrws 3 wden @ W s i
st A for & |

ib) ﬂﬁﬂmmﬁ.ﬁﬁmw
wfis sfen fmfam K, afsa ool

@ w¥m afify w1 swam AR WER W0
smbafae fe amem |

(d) mﬂﬁﬁlimﬂfﬂmﬂﬂ
wfirw 78 wF0 |

sRaE sfafam, 1948 ® yEAUEl & 3N,

ws gum Wi 38 Fwer | afsa @ e,

== :

(a) 10007 wfiww s Frafa §

(b ofvdee awgd s A g e § @
ww f dharefl s #

{ch Wit sl w1 39 o §

@ 500 s wheR Pt &

01, 3@ %) ) HEm 789450xy, 88 B fiwres,

il x o y v § | x Wy & T A .
?

) x=1 y=2
hy x=2 y=2
(&0 x=3 y=6
(dy x=4, y=4

mt,ﬂymﬂ?@fm’i
it lmﬂﬁﬂmﬂﬂtrﬁl'l

g v k7

fa) 118
ib)y 124
fe) 128
idy 132

2" smd s middRm w2

fad 2
(b 4
() @
d) 8

v Wi 3 40 i & Ay s & @
| 3R Zh % WA W W
@ 1 it frm, @ wer & B
Zait, vt i Sy shard wm F =t -
9.3:4:6% | 74 3 fise wym (FPnm)
A % aifm i wm W
frm 7

w szfm

b 31 fme

(e) 20 foae

(d) 28 e

'ﬂ'ld



ta)  The process, operation or other work is
incidental to or necessary  for the
industry

b The work is of a permanent nature

" members from among employer and

Which one of the following nature of work
shall not he taken into aceount while the
Appropriate Government considers prohibiting

employment of contract labour iy gan
establishment ynder the Contract Labour

(Regulation and Abolition) Act, 1970 7

(c) The work is done ordinarily through
regular workmen

{d}  The work is of intermittent nature

Which of the statements relating to the
Grievance Redressal Committee under the
Industrial Disputes Act, 1947 imrrﬁct ?

(a) It shall consist of equal number of

workmen. ¥

(b) It shall be constituted in an industrial
establishment employing twenty or more
workmen.

{¢ci The Chairperson of the Committee shall
be nominated by the -Appropriate
Government.”

{d) The total members of the Committee
shall not be more than six?

Under the provisions of the Factories Act,

1948, a Safety Committee is to be constituted

in a factory where :

(a) 1000 or more workers are employed

(b} Hazardous substances are used or
handled

(e} Heavy machinery is utilized

(d) 500 or more workers are employed

U-GAT
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The cight-digit number T89458xy is divisible
by 88, where x and v are digits. What are the
possible values of x and y 7

(a) x=1, y=2

(b) x=2 y=2

() x=3, y=6

d) x=4, y=4

If x is the smallest natural number that is
d-iﬁniblebyhnthﬂdandﬂﬂ.whnmﬂﬁfiﬂﬂ“
largest natural number that divides both 36
and 100, then what is the value of x =¥ 7

(a) 116

(b) 124
(¢) 128
(d)y 132

100
What is the digit in the unit place of 2¢ 7

(a) 2
(L) 4
e} B
(d) 8

A runner completed a 40 km race in 3 hours.
She changed her speed after completing each
quarter of the distance such that the
proportion of the speeds in the first,
second, third and the fourth quarter. is Eiven
by 2:8 ; 4 : & respectively. In how much time
then (approximately) did she complete the last
quarter of the race ?

(a) 82 minutes

(b) 31 minutes

(¢) 20 minutes

(d) 28 minutes



85, aft v, v 2 o e s wfen gea ¥ quly fiorss
W, @ wf sfis e o0 = yrae el gwn @
A asa ke

im)
(b
(ch
id)

ih)

ie)

(d)

darEm g2 (e geefaie) &
wgEn Fefafen § 8 ¥R wegsh 6
e 8§ e &

(a) wofE avfeew, fow fmen

44 o= ufeE ¥ 51.03.2022 W wiiEads #
e femran R

8
g
10
11

ﬁmhnmﬁﬁrmmﬁﬂﬁ“?ﬁ
W R

WUEN PR S 3R whem § 3AmE %
T W 8w s R

fawa =i e wa

¥4 T gFU W e o W=, W A H
sfrem g = st & agehang §

T W

T 2,50,000

Tl # W & o

(o)
(b)
te)
(d)

ENYR-U*GAT

100,

¥ 25,000
T 13,000
T 9,000

T 33,000

(28-C)

i e
fife  |wim vt |
Tl L L
pwl | wa 1100
25 W) | W 300
g #wh | foma % for Bofftm | 100
oF | fa & fom By | 200

wErgE S & e 31 el W
wmaE ke

(a) 6,700
(b) ¥ 8700

() T 10,700

(d) ¥ 12,000
31.03.2022 W F9R ¥4 @R o & faw
31.08.2021 ! WE WY L4
$1,03.2022 ) WA 5% v
81.03.2021 % WW wfim Wy * 12,000
§1,03.2022 ¥ W wfim T 11,000
70 wER | T € 1,000 Tife w @k

2021 - 22% A FA W W= e W 2
(a) 67,000
(b} € 71,000
(e ¥ 65,000
(d) 77,000

(©) T 75 @ Mfis
@ T 1%0E T I i



If there are enough coins of denominntipn = 1,
T 2and ¥ 5, then in how MARY WaYs can one
pay T 107

in) 8
M9

el 10

d) 11

Which o1 the following is included™in the
Coat of Inventory' aecording to Accounting
Standard-2 (Inventory Valuation) :

ta)  Administrative overheads that do not

contribute to bringing the inventories to
their present location and condition

(b}  Storage costs which are nocessary in the
production process prior to a further
production stage

te)  Selling and distribution costs

(d)  Duties nnd taxes paid on purchases,

subsequently  recoverable by the
enterprize from the Tax Authorities

‘ollowing is the trial balance of a firm as on
31.03.2022 :

Trade receivables * 2,650,000
' Provision for discount = 14,000
[ to debtors
' Discount to debtors [T 4,000

Additional discount allowed to debtors during
the year is T 20,000, The firm has a policy of
maintaining a provision for discount to
debtors equal to 10% of the Trade Receivables'
balances. Total amount to be charged to Profit
and Loss Account (for the year eonding
31.08.2022) for discount allowed and provision
for discount created will be:

oA,

a} ¥ 25,000
(hl ¥ 13,000
ey T 9,000

idy ¥ 33,000

R-U-GAT

(28-C)

Consider the following information §
Date Particulars | Units | Rate ;
anit (¥) ]
January 1 | Inventory in 200 ! |
hand b
January 8 | Purchnses 1100 8_|
January 25| Purchases 300 2 —
January 6 | Issued for sale | 100 -
January § | Issued for sale | 200 | = :]

Which one of the following is the value of
inventory on January 31 under perpetual
inventory system using First-In-First-Out
(FIFO) method ?

(m)  ¥6,700

by ¥ 87500

(e} ¥10,700

(d}l ¥ 12,000

Following is the information relating to a club
for the year ending 31.03.2022 :
Subseription outstanding as on
31.03.2021
Subscription outstanding as on
31.03.2022

Subgeription received in advance ¥ 12,000
ason 31.03.2021

Subseription received in advance
a=on 31.03.2022
There are 70 members each paying an annual
auhu_n_:rlpl:iun of ¥ 1,000. Total subseription
received during the year 2021 - 22 will be -

T 16,000

T 18,000

T 11,000

(a) T 67,000
(b} ¥ 71,000
(¢} ¥ 69,000
id) ¥ 77,000

ing an fraud is to be made by an auditor
to the Centrul Government when the sums
involved in the fraud :
(a) oxceed T 20 lakh
) oxceed T 60 lakh
(c) axcend T 75 lakh
(d) are® lcroreaor above
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Deferred enue expenditire
Rﬂ"hl'ﬂnun mﬂﬂipt
Capital expendityre

®hue expendityre

Which one of the follo
correct 7
&)

wing statements g @

D“Fl‘lmintiun I8 a non-cash eXpense,

(b} Depreciation :
v Prﬁ_mt:tmn 18 the process of valuation
‘¢)  The main cauge of depreciation is wear
and tear caused by usage
(d)

Depreciation must be charged so as to
ascertain  true profit or logs

of a
business,
A credit purchase of machinery recorded in
Purchase Book instead of Journal Proper is an
example of :
fa)  Compensating errors
(b} Errors of commission
{e)  Errors of principle
(d)  Errors of omission

. The practice of appending notes regarding

contingent liability in accounting statements
18 pursuant to :

ta) Convention of consistency
(b Money measurement concept
(c]  Convention of conservatism
{d)  Convention of full disclosure

‘Outstanding rent’ may be classified as

{a}  Natural personal account

{b)  Representative personal account
led Real account

(d) Nominal account

-U-GAT

(31-

Lo lill-ﬂf'eﬁ'

paed
106. Which of the following tag '*
{1
comments in the HTML sourt
(n) «f ata
y
by =l e
e} e | =
id) «f- i
js used 0

I.Wl

108,

108,

110.

c)

Which one among the followiné

ereate an e-mail hyperlink to 2 webpage §
(@) mail

() mailto:

(¢}  tomnil:

(d) to_mail:

In the context of a buffer in memory area oF
disk, spool refers to :
{a) Simple peripheral operation on-line

(b)  Simple peripheral operation off-line
(e} Simultaneous peripheral operation
on-line
(d) Simultaneous peripheral operation
off-line
Which one of the following is not a
commutative law ?
(a) A*bh=b*A
(b} A+b=b+A
(e} A-b=b-A
(d) A*B=B+*a
Which OS81 layer is responsible for manags
the communicati fnaging
unication betwean COMputers
network ? ©rS In the
(a) Network layer
(b} Transport Inyer
(e)  SBession layer
Jb Data link layer
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w

1186,

1

2,

E )

(32-C)
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Consider the followes
DNA : "B IANERIONY bt

1.
2
3.
4.

DNA refers tq Deoxyribonueleie Agid,
It is located in the ribosomes.

It is composed of Ribonucleie Acid.

It can make a copy of itself,

Which of the statemsnte wt i
; Eiven above isfare

()
b
(c)
id)

1 and 4
land 3
4 only
2and 3

Velamen, a spongy tissue, is formed in :
fa)

Y
(c)
d)

Tap root
Epiphytic root
Fibrous root
Respiratory root

Which one of the following statements il@
correct 7

Hydrogen ions cannot exist alone,

All compounds containing hydrogen are
acidic. .~

Separation of H' ions from HCI
maolecules eannot ocour in the absonce of
water,

Water soluble bases are known as
alkalis,

(a)
(b)

te)

i)

Which one of the following elements has the
highest boiling point 7

ta) Lithium

(b)  Sodium

i)  Potassium

118,

id)  Rubidium,

IEE-G}

118. An {on cube with 10 em ﬂidl' = l'h'lufi-l'l-ﬂd into

eight smaller cubes, each with same ﬂ'ﬂ.ﬂl
Which one of the following statements i
correct in this context ?

(8) Tota) volume will increase and total
surface area will decrease.

Total volume will decrease and total
suriace nrea will increase.

Total volume will remain the same and
total surface area will increase.

Total volume will increase and total
surface area will remain the same.

(b)
Lah

(d)

Which of the following statements regarding
the attendance of retired judges at sittings of
the Supreme Court of India is/are correct ?

1. Article 128 permits the sitendance of
retired judges at the sittings of the
Supreme Court.

The Chief Justice of India may at any
time request anyone who has held office
E;;I;:iﬂ:;& of the Supreme Court or of a
rt to sit and act as a Judge of

the Supreme Court.
The Chief Justice of Indin may at any
I:E!nn. with the previous consent of the
President of India, request any person
Who has held the office of Chief Justice
of a High Court I‘.na:it!.nl:lnﬂasaqludgﬂ
Ff the Supreme Court. =
"The Chief Justice of Tndia

" may at

"_-hmk, with the previous consent nrat::

' Pregident of India, request any person

 'who has held the office of 5 Judge of the
Supreme Court 1o git and act g 5 Judge

= of the Supreme Court.
o} er using the coge Eiven

{fa) luand4

(b) land3

(» Z2andd

(d) 4only

4
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The board of
] Waperative Socioly
!;“Pl'!'m;:ﬁdﬂl‘h;ll under !‘ﬂ]- ension if ‘“ﬂ a
: p ere i8 negligence in the porform
duties, e
g ;
';:mre '8 any act prejudicial o thi
terest of the Co-operative society or jts
members,
3.

The body has failed 1o
in accordance with the
State Act.

contluet elections
provisions of the

There is no Government shareholdings
or loan or financial assistance Or ANy
guarantee by the Government.

Eﬂlm&mmmtmwnrmlmhmm
below :

tal 1and2only
Ib)  1and 3 only
(e} 3 and 4 anly
idi 1.2and3

Which of the following statements regarding
the Member of Parlinment Local Area
Development Scheme are correct 7

1.  The nodal ministry for the scheme is the
Ministry of Statistics and Programme
Implementation.

2. Funds released under the scheme are
non-lapsable. ~

8.  The role of the Member of Parliament is
limited to recommending works.

4. The scheme is confined to the State from

which the Member of Parliament is
olocted (Lok Sabha), However, a
Member of Parliament from Rajya
Sabha can recommend works anywhere
in the country.
Select the correct answer using the code given
below :

ia) 1 and4 only
() 1,2and3only
{¢) 2,9 and4only
(d) 1,2,3andd

[
¥ e
119. The Global Mulii:llml'mllnnni Poverty
developed by the United Nation® I
Pmﬂnmmn 1w mmuurﬂmrnt of

120,

(36-C)

1,
2
3.
4.

Select the correct answer using the cnde

ndex

HvEIﬂPm‘"“

MNulrition
Conking fuel
Asmnts

School attendance
!g'.'.'Eﬂ

below :

{a)
b
(o)

0

Which one
recommended by

1,2, 3and 4
1,2 nnd 3 only
2, 3 nnd 4 only
1 and 4 only

of the followmg was

the Dinesh Goswam

Committee (1990) 7

im)

b

(el

(d)

The appointment of the Chief Election
Commisgioner should be made by the
President of India in consultation with
the Chiel Justice of India and the
Leader of the Opposition.

The members of the Election
Commission should be appointed l.'l}' the
President of India on the advice of g
Commitice, consisting of the Prime
Minister and the Leader of

Opposition. -

I'Ih mmujmﬁﬂﬂ Procesis !h‘u“H h‘ﬂ
statutory backing. a

The appointment of the gihey
Commissioners  shoylg be
consultation with the

Commissionur, the Chjef
and the Leader of the Op

Election
Made
Chief Election
Positinn



